
KingsBox Walking 
Beam



QTY.

4x 8x

1x

16x 8x 16x

2x

8x

PICTURE

position

position 3 position 5

name

Plug 1,5 col M12x40

Walking Beam

Washer M12 M12 Nuts M8x30

Horse Head 

Rubber 125x40x15

position 2

position 6 position 7 position 8

position 1

position 4

SAMPLE

Assembly elements: 



32x16x

Washer M8M8 Nuts

position 10position 9

Assembly elements: 



Assembly instructions: 

6

5

6
7

1

3

2

65 2 1

9

5

64

STEP 1

STEP 2


